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Do not open this booklet until asked to do so...

RATIONALIST TALENT SEARCH EXAM 2016

STD: |l T

Roll No.
Date of Examination : 07 February 2016 Sunday
Time : 10.00 AM to 11.40 AM

qremreiardr SEG) / Guidelines for the Candidate
1. 39eATd ATarT g YRET $ApMI 3cdl 9T Porear et & eardr.

Check to make sure that you have received the appropriate answer sheet of your name and roll
number.

2. 9Rel g% groaydl fearedisr carear 9ol Argdrdr @ aoaErdr 30 A it 9o dvard
A,

You will get additional 30 minutes to check and make sure about the information about yourself on
the Answer Sheet before the start of the exam.

3. WX YRAYTARHET THKUT 100 TR& 3 Tcdh JRAATST 2 0T 3Te.
This question booklet contains 100 questions each question carries 2 marks.
4. ¥I 9T QS0 9TF 3R, Tl SccRTagel fAasTeledT 0T gwcveué‘l YR I[0T TSIl shel
SAMUIR TSN
All questions are compulsory. There is no negative marking.
5. 3MUcAT FEITE TRAYREART [ATeard! Tl Seal el
Check to make sure that you have received the appropriate test booklet for your standard.
6. UIATATHEY Shddd Thd Jcadl SIS 3R, U Scaidrdr Tehd gy fagsmEr.
There is only one correct answer. Choose only one option for an answer.

7. 3T 9AT EIAUIATATS! hdes hIdl/ [T TIET STeldaTd a3,

To mark your choice of answers by darkening the circles in the Answer Sheet, use a Blue/Black Ball,

Pen only. Eg. i

Q. X : - Fill in the blanks. Visit www.rtsexam.com for Answer key after 8 days
My father went.........cccecvvveeiuvrnnee To buy some milk.

a) there b) their c) They're d) here

As the correct answer is option a) you must darken the circle corresponding Q. x . @ @

To option a) in the Answer Sheet

8. URET HUCAER JHH SccRUTIehl THAETHIhS TRl .
Return the Answer Sheet to the invigilator at the end of the exam.

9. 3Year URET HATh TeAYRAHa Fear fAgrar a Hex yRAYREdenr aRat Hleraticder 3aedr diad =rd.
Write your Roll No. on the Question Paper too and take it home for future reference.




10.

Identity the noun which describes the given picture

A) Helicopter B) Ship C) Aeroplane D) Missile

Choose the title and name that is written incorrectly?
A) MS Khanna B) dr Adams C) Mr. Lee D) Mrs. Jones

Fill in the blanks with articles.
Raj is naughty Child.
A) The B) an C)a D) none of these

Fill in the blanks with suitable pronouns:
Every muscle in your body helps to move.
A)l B) him C) you D) her

Give one word for the following:
A box with a letter —
A) Letterbox B) Box letter C) Letbox D) Boxlet

Fill in the blanks with the correct simple present tense form of the given word:
Kusum never jeans.
A) wear B) wears C) wearing D) none of these

Choose the antonym of the word written in capital letters.
REMEMBER —
A) Memory B) Forget C) Past D) none of these

In the following questions identify the verb
Indian Army is very powerful.
A) Indian Army B) is C) powerful D) none of these

Trollel GATTleT ATH FAHelell Asq B,
A) 9ae B) Rraar c) foRT® D) g

Tellel dIFdTalel 352 AT 334

iR R 37 3.

A) frar B) fRI9T 39 3mga
C) JreRTr D) 39T 3Ted




11.

12.

13.

14.

15.

16.

17.

Qrellel e AT ereg gAiardsT fasr:

Gio)

A) 9Y B) helh k;ecy D) FHH
feerear adaTqeT gee e iaar.

A) Guhcs B) e C) B D) JShcd

@rellel ARYAIRET 3 DG feeled! TN AT ek 9T foasT.
B0l

A) TrITTGOT B) fsfaor C) AROY DE; AU
grellel arFdTdiel i BT

I AT TSl 8 3T 8idl.

A) TAHTTHIS B) $dehTcd C) TTISTHIB D) IT YT AATRY
Grellel Eaeiiatieh AsGIATS 9T Ase YA fAasT.

qrAT=Y -

A) 9BUD B) bW C) TBTD D) IBID

Q€ SITHATRIT WlelleTdehT HIUTTAT §ET ISCETSRIGUT hel ST ?

A) TSI AT B) eIl C) I D) ITdhr ATEY
Who hoists the national flag on 26th January?
A) President B) Prime Minister C) Home Minister D) none of these

greiel R AT {309 Iiéiel 3NSaT.

From the following pictures identify Karmaveer Bhaurao Patil
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18.

19.

20.

21.

22.

23.

R ST TadT STem?

A) 29 3ETEC ¢R8L B) 2& 3TFTEC ¢_8L
C) 83 3PEC $’90 D) 29 AN 2’¥Y
When did India be come Independent?

A) 15 August 1947 B) 16 August 1947
C) 15 August 1950 D) 15 August 1945

dTSTHE S HIUTAT AT 38 ?

A) feeel B) AT C) Pl D) AHIET
In Which city the Taj Mahal is situated?
A) Delhi B) Agra C) Kanpur D) Amritsar

GrelTeldhl ofvera 3.
Which of the following is Laptop?

°
_— D )
A) e B)

GTTeTUehT ShIUTAT HITUTHTT YHE HIET ARI?

A) Affex B) €413, C) fr-ars D) TR
Which one of the following is not main part of the computer?
A) Monitor B) CPU C) Keyboard D) Speaker

GrelleTdehT HATAT ERTTAT TETOTHTST 3TIATT hell SATAT?

A) gcdr B) ©YST C) |ar D) AT
Which one of the following is used for housekeeping?

A) Elephant B) Horse C) Rabbit D) Dog
HAGRISET HGHIHAT 10T MEcA?

A) THalTd TsH B) Tgehld UTCTel

C) Uehall He D) ST 9Terel

Who is the Revenue minister of Maharashtra?

A) Eknath Khadse B) Chandrakant Patil

C) Pankaja Mundhe D) Jayant Patil




24,

25.

26.

27.

28.

29.

30.

HRATT TSTIAT HIUT 3RA?

A) g AT B) Ifs 9rdrer
C) 9uTa @i D) EfaT ey

Who is the President of India?

A) Narendra Modi B) Pratibha Patil
C) Pranav Mukhariji D) Sonia Gandhi

ISeATAT o3 Irar Sed s STelr?

A) Ric@ster B) qoI

C) S3BIMARTSIT D) IFd

Where did Rajmata Jijau Born?

A) Sindhkhedraja B) Pune

C) Deulgaonraja D) Verul

g3 HIUT grear?

A) SlaeX B) UIECHT OEIGET D) fardY
Who delivers letters?

A) Doctor B) Postman C) Farmer D) Tailor

g foregr qendier waiftre gygfda fSiegr sfer 3me.

A) TG B) qOY C) HS D) figeelr
is the highly polluted district of India.

A) Chandrpur B) Pune C) Mumbai D) Delhi

HERTSCIAY STl hIUTdT 311872

A) 9Ot B) 3iR=TeTE C) HS NEURED

Which is the capital of Maharashtra?

A) Pune B) Aurangabad C) Mumbai D) Nasik

TRraTelT AGRISAT TaISIT™ AT HIUTdT giar?

A) SIS B) fRIa=r C) gor D) T3S
Which of the following was the capital of Shivaji Maharaja’s Swarajya?
A) Rajgad B) Shivneri C) Pune D) Raigad

faera SiteT &1 Woarg orear Yol Jefad 3me?

A) forhe B) BeaTer )| D) gTehT
With which sport Vijay Zol sportsman is associated?
A) Cricket B) Football C) Chess D) Hockey




31.

32.

33.

34.

Y3
A) g B) TTAH c) I D) TTIE

Write the following number in words and choose the correct answer.
43

A) Twenty Four B) Forty Three

C) Thirty Three D) Forty

A) ¢ B) & C) ¢ D) %
Add the numbers inside the egg given below.

A) 8 B) 6 C) 12 D) 29

Grellel TlhleId IR TEAT feoiedr 3Med.caTdiel TaTd oglel G&IT 3T,
AR ek 9IT fAqET.

48R, ¢, 3¢, &Y

A) 3¢ B) Q¢ C) 3R D) &¥

Four numbers are given in the box. Find the smallest number and select the correct option.
52,98, 38, 64

A) 38 B) 98 C) 52 D) 64

3T YehaR 37TE. R I TeadT=il 0T aR Agel.

A) Iaar B) I[¥AR C) erfaar D) Y[haR
Today is Friday. What day will be after seven days?
A) Sunday B) Thursday C) Saturday D) Friday




35.

36.

37.

38.

TehT TohaheedlT HTHEY ToId o ¥¢ YT HlcedT M7 fRAI9dsT & 98 ¢1daT FicedT dl
araiel AT THur el erar Feen?

A) 803 B) 04 C) %00 D) &¢
In a game of cricket, sanay made 48 runs and Shivtej made 55. How many runs did they score in all?
A) 103 B) 105 C) 100 D) 98

auTdier 3¢ fega™ Afga frdi?

A) b B) ? Qs D)%
How many months are there in year which has 31 days?
A)7 B) 2 C)5 D) 4
Grellel diehlaAler foush feelel 3Med. cITadsT IUMRIN HEAT ST, AT Seckrar qag
IGEER

0000

o0 000

o0 000

o0 000

e @ o @

00 0 00
A& X ¥ B)y X & C)¥ X & D)3 X &

Look at the dots given in the following box and find the numbers of multiplication. Choose the
correct option.

A)6x4 B)5x6 C)4x6 D)3x6

Glellel AT 3T FHATT HEL. AT ScadraT AT 9 fAger.

&3,¢¥,R0,%8L
A) Rb,¢¥,83,% B) €¥,R0,&3,%1
C) ¥b,&3,¢¥ R D) &3,¢¥,%0,%

Put the following numbers in descending order and select the correct option.
63, 84, 97, 47

A) 97,84,63,47 B) 84,97,63,47

C) 47,63,84,97 D) 63,84,97,47




39.

40.

41.

e gAY fAgsEr.

17
RGN

Which one of the following is true?

n l> l
q©'©

A9 ST fAger.

A) 8 fATAE = 300 Fag

C) 3 fATAC = 0 Yehg

Which one of the following is true?

A) 5 minutes = 300 seconds
C) 3 minutes = 120 seconds

Reprem adera AUy Fear fAasr.

//.
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ST Iy
\.2,3)\?3)@/(}?/‘ A) 30
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~
e

Fill in the empty circle
e

-
‘25/‘

A) 30

B)

>
NERGIES
B)

>

D) All of these

B) ? TATAT = 200 Wehg
D) R fAafdc = 30 T

B) 2 minutes = 100 seconds
D) 2 minutes = 130 seconds

B) ¢ C) 3 D) 39

B) 28 C) 32 D) 35




42.

43,

44.

45.

46.

47.

48.

g€ fohell o0 IH HYT fohcll Toll hodrd 3¢ fohell 300 IUH 3o,

A) R fhell ¢oo IH B) 3 fohall Qw0 IH

C) Q¢ fhelr Qoo A D) Y fhall goo IA

How much should be subtracted from 56 kg 200 grams to get 34 kg 300 grams?
A) 22 kg 800 grams B) 23 kg 200 grams

C) 21 kg 900 grams D) 24 kg 100 grams

32 T FgUTal fordt 4@

A) 334 B) 309 C) 30 D) 300
How many paise are there in Rs. 327
A) 325 B) 305 C) 320 D) 3200

3 9 9fd IF FATUT goo FA AATAT faohd GUIMETS focl §F eI dmTcier?

A) 3 3. B) M %. C) W 2. D) ¢ 3.

How much money is paid for 100 grams of spice if the cost of 1 gram of spice is 23 paise?
A) Rs.23 B) Rs.27 C) Rs.24 D) Rs.21

¥y FICT Tlellelden! I0TCAT FATATIETT oIl 3T

A) 23y A B) ¢ TAX )R fAe D) b TAX

45 meters is smaller than:

A) 125 meters B) 8 meters C) 9 meters D) 7 meters

Grelledehl T FAETAT I fABUIR 3ol Wi AATRI?

A) AT B) 3T C) 38R D) ZferhreT
Which one of the following does not eat food from plants?
A) Goat B) Cow C) Rat D) Telephone

GrelloTdhr HART are gia?

A) TTET B) Fo[d C) dfcel D) HeHT
Which one of the following will grow?

A) Key B) Lock C) Bottle D) Boy
Y faEure HIora?

A) T 8T 9TUgrEaT EEd &gl
B) HAGIUETT HEENR HAIS IdId.
C) 4T AGTARRIYET AT 31dd.
D) F1ET HHGTIET HISY 3.

Which one is true?

A) Rivers is not a source of water
B) Oceans are bigger than river
C) River is bigger than ocean

D) River is bigger than sea




49.

50.

51.

52.

53.

54,

55.

GrelleTdehT Iy faene hroTd?

A) STl dielrd.

B) 3US ool WIS o13.

C) SIgeT ITER T SAeAlelcR BT g .
D) ITdhr ATer

Which one of the following is true?

A) We should talk while eating

B) We should not eat uncovered food

C) We should not wash our hands before and after eating
D) none of these

fageTa g9 faasr.

A) del B) HTSIITeI C) 318
Pick the odd one out

A) Oils B) Vegetables C) Egg
39T RRTAT WTelleldeh! HATT HTHR HBAT?
A) T B) &3 C) e
Which one of the following gives our body a shape?
A) Skin B) Bones C) Hair

GrelTeldehl 3R TATd AlsT 9ot HIoTar?
A) gcall B) Sl C) QBT

Which one of the following animals is largest in size?

A) Elephant B) Zebra C) Goat
Grelleltehl HToAT 3SET.

A) 3TST B) gr1&T C) 3ot

Find the vegetables from the following

A) Mango B) Grapes C) Brinjal
AT 9o 374,

A) NS B) GUTARW C) RradTarw
Water of the sea is

A) Sweet B) Like Milk C) Like soft drink
FATTAT [RERECIFNET G

A) D B) BT C) AT

A plant cannot grow without

A) Flower B) Fruit C) Vegetables

D) hdd

D) Fruits

D) #g,

D) Brain

D) AT
9

D) Dog

D) T

D) Watermelon

D) @RC

D) salty

D) HT

D) Soil




56.

57.

58.

59.

60.

61.

62.

dTIATT ASTUITATST HATAT 19 AT ?

A) frenfAeT B) X C) aT9ATdY NEE]

Which one of the following is used to measure temperature?

A) Kilometer B) Meter C) Thermometer D) Inch

g 9T 3Te.

A) diee B) ¥CIe o Reer A= p)FET
is a cereal.

A) Rice B) Potato C) Capsicum D) Cabbage

AT 1T @rdr?

A) ST 9rofy B) aTad C) AT D) 37ST

Rabbit eats

A) Other Animals B) Grasses

C) Fish D) Eggs

TITYU RRATST WrelTeTdeh! hem= IR 37Td?

A) STRITH B) g fasimelr
C) dIveh 3ER D) arel Yehr wa
Which of the following are good for Health?

A) Exercise B) Sufficient rest
C) Good food D) All of these

GreiioTdhr FHuTar groft gatd SEd 39 emadr?

A) AT B) I C) arer D) frear
Which one of the following animals run fastest?
A) Cat B) Cow C) Tiger D) Cheetah

TEIATAY ATAATAT 3TYUT IEITTAT ShIoT] moj\ﬁ ATATa?

A) STl B) 3TedT C) AYA D) ITdhr ATEr

Which walking on road, we should walk on which side of the road?

A) Left B) Right C) Middle D) none of these

roiTeTdehl aoeqdl gl o fABUIRT Teeh HIuTdr?

A) GTER B) TR C) SArofr NEZE
Which one of the following can not be obtained from plants?
A) Sugar B) Apple C) Butter D) Coffee

10

——
| —



63.

64.

65.

66.

31907 39er 847 IS Sadr?
A) SITETATT
C) dohd

Where do we keep our money?
A) Hospital

C) Bank

GrelleTdhr Falig 3.

M@

Q)

Identity the living thing.

O

Q)

B) Ulell TCATHEN
D) T.EL.UH.

B) Police Station
D) ATM.

i

D) I @

i

D) All of these

TRl T Fo R @ I,

A) GUTHS 3Tl TS T aTd Holed gldid

B) 3T9UT 3TSAZATCT Uehel GET AT

C)gY & §hE 3MER 3Te
D) AT Caleg! SR

What is correct about milk?

A) It keeps our bones and teeth strong
B) We need to drink milk weekly

C) It is a complete meal
D) both Aand C

TR HIUTT YTUATT I TddTd.

A) FelaTEE B) STEd

Which of these animals has no legs?
A) Butterfly B) Tortoise

C) |1a D) ITdhT ATET
C) Snake D) none of these
( )|
L 1)



67.

68.

69.

70.

71.

gera ges fAgsr.

A) SieT B) IMeRR C) Hal D) I
Select the odd one out

A) Onion B) Carrot C) Radish D) Apple
R feQre AT feaar.

A) ITT B) 3ccR C)qd D) gf&ror
The sun appears to set in the

A) West B) North C) East D) South
TroiTel 3{ehATell qoT .

Y, W, W, ?, R

A) %€ B) 8¢ C) ¢ D) %L
Complete the number pattern gives below

28, 24, 20,7, 12

A) 16 B) 18 C) 19 D) 17

J9TAT T 3NddTl.

Find the odd one out

AT 3Tl fAasT.

Find the odd figure out

A)

Q)

——

B)

D)

12

—



72.

73.

74.

75.

76.

77.

SR TIeIATeT H1dd Fgeol, Fledlel A Fgeol M0 [Hearer fad Fgee X gurr 1
HIOTAT?
A) hlcsT B) TTeT C) Taar D) [Far

If ‘White’ is called ‘Black’ black is called ‘Blue’, blue is called ‘Yellow’ then colour of milk is

A) Black B) White C) Yellow D) Blue

Tl AT 9T 18 371 fAAreT 31RgeIUed gdell 318, AT JRIGIeT S8 38 R
HdTd Udell T 3TE?
A) frarer B) AT C) ATl D) 31fegeir

Sayali is heavier than Shreya. Shivani is lighter than Ashwini. Shreya is heavier than
Ashwini Who is the lightest?
A) Shivani B) Shreya C) Sayali D) Ashwini

IeTd of SHUTRT sg NSET

A) IdarR B) JIHAR C) STHAaRY D) HIBAR
Select the odd one out
A) Sunday B) Monday C) January D) Tuesday

e TRIegredr SR YU 38R I ?

Which is the next letter?

ABCBDDABCBDDABCBDDA?

A) A B)B C)C D)D

AT T FAAAT YgTIAT 3 A HeATEr aral Fel?

A) G3T0TH B) ofUeiq
) fB.araeery D) Il |
Sanay wants to watch a movie at home. He can watch it using a
A) Desktop B) laptop C) DVD Player D) all of these
HIRATIATT HIUTh aTI ATl hiA giard.
A) §DF B) sheTaddTel C) JaTeT DAGES:]
Using computer at offices makes the work .
A) Slow B) Boring C) fast D) tedious
( ]
L 2 )



78.

79.

80.

81.

82.

83.

3TRHATA Er\U‘r .

JAVAVAVAV.N
RENL R ||RR ] ?

A) ¥o B) 3% C) ¥¥ D) 8¥
Complete the number pattern
A /4\ A A\ A

24 1116 1] 36 || 32 || ?
A) 40 B) 34 C) 44 D) 54
Tq HUITATST HI0TTT AIdrdr ard hell SiTdl.
A) #Teh B) dis C) forer D) ShleT
Which sense organ is used to take the taste?
A) Nose B) Mouth C) Tongue D) Ears
3fSar ool st Segard 3mg?
A) AT B) 3RaTeTE C) qor D) H{eS
In which district Ajanta caves are located?
A) Nagpur B) Aurangabad C) Pune D) Mumbai
WroiTeTdehl SHIUTAT Hicieh gl HARr?
A) arefead B) o1daT C) IR D) SAIYateT
Which one of these is NOT a family occasion?
A) Birthday B) Wedding C) Langar D) Balipujan
Sifeeiest FgUT IO S el el SATd?
A) IseATdr fSes B) 31fgearRIoN gl
GR:IEEICIER T D) SfexT amed
Whose birthday is celebrated as the ‘ Balika din’?
A) Rashtramata Jijau B) Ahilayarani Holkar
C) Savitribai Phule D) Indira Gandhi
gl HGHT dlgehd HTET HIUTT?
A) STgTT B) Yed C) & D) fa#T
Which is the most expensive means of transport?
A) ship B) Train C) Bus D) Aeroplane

( 1
L )



84.

85.

86.

FIATAT Hald ol [6 HI0TCT?

A) TT B) sk C) gz D) AU=gA
Which is the smallest planet in our solar system?
A) mercury B) Venue C) Earth D) Neptune

Grellel Hlehlalld TR 3Mehcdl GoIeaT M. AT $HAT GIVIRT Seol Fafld EdT.
TReITwgreaT fSehrol qaTATeel SecRTe SIUTC 3MTehdll Agel o MET. Weg Sea’rar Ty
IGEELP

Observe the given series of figures and find out the fifth figure in the given question choose the
correct answer option.

€ | £ | £ k| -

| | k| E

A) B) C) D)
mmwmmm.mﬁwmwmﬁwma
3caET 9aTy faasr.

Find the figure that does not belong to the group. Choose correct answer option

< el

A) B) C) D)

15

——
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87.

88.

89.

90.

91.

92.

Glellel YT 3Teheidll RATCHT ITAAT el 8ol T Sk IMpcTTHY MeLT 3 9T
farasr.

Observe the question figure and find its mirror image from answer figures. Choose the correct
option

PAARA
www ==

== =
A) B) C) D)

mﬁmmwmmm?

A) TH g8 B) FETAR

C) 372 D) ATUTeFT

Which of the following historical person is known as Vardhaman?
A) Gautam Buadha B) Mahaveer

C) Ashok D) chanakya

Fill in the blanks with appropriate joining words
Do it now you forget.
A) or B) and C) since D) before

Select the noun from the given words
A) Deer B) wide C) long D) small

Grellel 3¢TgI0) arar d 9T 3cadrar 9a g fAgsr.
30T SRS QS Ja.
A) dosal B) 3T C) JB3eR D) STaehT

Read the following questions and choose the correct option.
We should go to school daily

A) In time B) late C) before time D) early

39T AT AT 3?2

A) AGRTSE B) AR C) AT D) HAIT&dTIsT
Which is our state?

A) Maharashtra B) India C) Gujrat D) Marathwada

16

——
| —



93.

94.

95.

96.

97.

Grelol QUsETaT AT 2leg INBET.
3Ky
A) AT B) 3 C) "t

greltel favgrdl erser feiedr gArge Soav e,
QITedT
A) 37T B) JNtIcs OEIEEE]

IeTd  SHUIRT Qs ST,

A) ol B) 4IgT C) ShIdaT
Odd man out
A) Sparrow B) Parrot C) Crow

TGrefleT 3MThell TgT T YT A 3cc fAasr.

Study the following figure and answer the questions below

AlplATdle « 7 F&ar fhdr?

A)3 B) & C) ¥
How many * stars belong to square?
A) 3 B) 6 C) 4

Repoma 3rgoT=aT qig DRATT AGOTIT * AT FE&AT Thdl?

A)3 B) ¥ C)R
How many * stars are there in triangle but not in square?
A)3 B) 4 C)2

17

D) YT

D) 3TaTeT

D) AT
)

D) Dog

D)y

D)5

D)3

D)5

——
| —



98.

99.

100.

R AT o HIHAR 3 X W AT sl HIUET aR A5eT?

A) BIHAR B) HITBAR C) §UaR

It's Monday on 21t march what day is on 23" march?

A) Monday B) Tuesday C) Wednesday

FUNRTET SholedT R TAAS fFAT NB@Er
Yoly

A) TUcsheh B) &l C) A—dsh
Underlined digit in 407 isin place.

A) one’s B) Tens C) Hundreds
Yoo ﬁ?ﬁ = ﬁh?ﬂ

A) Qo B) Y C) Yoooo
500 cm = How many mm?

A) 50 B) 5 C) 50000

18

D) EAR

D) Thursday

D) AT

D) Seventh

D) Yooo

D) 5000

——
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